
Y2 – Autumn – Block 2 – Know your number bonds Answers

Question Answer

1

4 + 1 = 5
3 + 2 = 5
5 + 0 = 5

2

0 + 6 = 6
1 + 5 = 6
2 + 4 = 6
3 + 3 = 6
4 + 2 = 6
5 + 1 = 6
6 + 0 = 6

3

a)

b)

4 Ron

5

a)

b) more bonds to 9 and 10 in table

2 + 8
5 + 5
3 + 7
6 + 4

3 + 6
7 + 2
4 + 5
8 + 1



Y2 – Autumn – Block 2 – Know your number bonds Answers (continued)

Question Answer

6

a) 3 + 5 = 8
b) 3 + 0 = 3
c) 8 + 2 = 10
d) 3 + 2 = 5
e) 6 + 2 = 8
f) 9 + 1 = 10
g) 5 + 2 = 7 
h) 4 + 4 = 8
i) 4 + 5 = 9
j) 4 + 2 = 6

7
= 5                     = 3                     = 8


